Intermediate Algebra — Chapter 6

Lesson 1

Tell whether x and y show direct variation, inverse variation, or neither.
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Intermediate Algebra — Chapter 6
Lesson 1
The variables x and y vary inversely. Use the given values to write an equation relating x and y.

Then find y when x = 3.
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12. The number y of songs that can be stored on an MP3 player' varies inversely with the average
size x of a song. A cer'tam MP3 player can STELe 2500 songs when the average size of a song is 4

MB. i _,> 395 0= (x) I\ am -4 =3 ¥ .00l

a) Make 'rable showing the number' of songs that will fn‘ on ‘rhe MP3 player when the
average size of a song is 2-MB, 2. 5 MB, 3 MB, and 5 MB.
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b) What happens to the number of songs a5 the-averagesong size increases?
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Intermediate Algebra — Chapter 6
Lesson 2, Day 1

Simplify the expression, if possible.
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Intermediate Algebra — Chapter 6
Lesson 2, Day 1
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simplifying the rational expression. finding the product.
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Intermediate Algebra —~ Chapter 6
Lesson 2, Day 2

Simplify the expression, if possible.
1. Which rational expression is in simplified form?
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Intermdediate Aigebra - Chapter 6
Lesson 3, Day 1

Find the sum or difference.
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Find the least common multiple of the expressions.
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Intermdediate Algebra — Chapter 6
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Tell whether the statement is always, sometimes, or never true. Explain your reasoning.
11. The LCD of two rational expressions is the product of the denominators.
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12. The LCD of two rational expressions will have a degree greater than or equal fo that of the
denominator with the higher degree.
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Intermediate Algebra ~ Chapter 6
Lesson 4

Solve the equation by cross multiplying. Check your solution(s).
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Intermediate Algebra — Chapter 6

esson 4
;denﬂfy the least common denominator of the equa'hon
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Intermediate Algebra — Chapter 6

Lesson 4

The functions below all have inverses. Find the inverse of the function.
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Intermediate Algebra — Chapter 7
Lesson 1 L

A 1 1
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Find the indicated nth root(s) of a.
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Evaluate the expression without using a calculator.
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Intermediate Algebra — Chapter 7

Lesson 1
Match the equivalent expressions. Explain your reasoning.
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Evaluate the expression using a calculator. Round your answer to two decimal places when

appropriate.
15. V169 16. 85Y6

3.3 A0

17. 2513 18. 20736%°

, 4 23240.40

19. (V187)3 . 20. (i/—_s);3 ~
137 2Y°
50.9 37 3






Intermediate Algebra — Chapter 7
Lesson 2, Day 1

Name

Use the properties of rational exponents to simplify the expression.
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Use the properties of radicals to simplify the expression.
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Intermediate Algebra — Chapter 7
Lesson 2, Day 1

Write the expression in simplest form.
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Intermediate Algebra — Chapter 7

Lesson 2, Day 2
Name

Simplify the expression.
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Intermediate Algebra — Chapter 7
Lesson 2, Day 2

Write the expression in simplest form. Assume all variables are positive.
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Perform the indicated operation. Assume all variables are positive.
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Intermediate Algebra — Chapter 7
Lesson 3, Day 1

Name

Solve the equation. Check your solution.
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Intermediate Algebra — Chapter 7
Lesson 3, Day 2

Name

Solve the equation. Check your solution.
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Intermediate Algebra — Chapter 7
Lesson 3, Day 2

Solve the Inequall‘ry
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Intermediate Algebra — Chapter 7
Lesson 4, Day 1

Write in terms of i.
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Intermediate Algebra — Chapter 7

Lesson 4, Day 2

Perform the indicated operation.

1./=25 -V—2
ay -l

1077 = 1061

=D

4. —/-6(v=24

- 105 104V

~33(3)030

=37 ()W)

12?2 -13111)
)

7. 21(14%

10.2i(5—2z3

103-43

105 -4(1)

e
‘ ]

13.10 -4 +61)
Uy 6ot -4 =
LD *5Sled -l )
LD +5L3+b

2.4/=9 -V=16
37 - 4
Iah -»VBI(.')

-13

5.7i -9i
(377
(3L1)

b3

8. 6i(— BL)

4353
ST

43|

11, (4 + 20)(2 + 30)
Lot A7 445+
2+ b3 +bl-1)
g3 -,

LLD') +q |

14. (8 + 3i)(1 - 2i)
3-1lo3 131 o
3-131 -l
22130+

VU130

3.V=-3(—v-27)
7’5'!0"15_)

Jé%s\d'
-3,

-9:7
6. 11i -5i
5639

55(=1)
,5§

9. 3i(1—i)
37-371
7 -3(-1)
343

P |
12. (3 + 50)(1 + 4i)

2 +137+53+3033
3+N374900-1)

3+1/77-30

15. (7i — 7)(3 — 51)

S5 -357%- 3l —\;357
-3l +5bi -35)

—a\+5b -3561)
___._;_'Limss






Intermediate Algebra — Chapter 7
Lesson 4, Day 2
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